L1=ML+138/5.43
1 3
=] 8 11.5/0.452 L2=ML+115/4.52 11.5/0.452
S S )
- = L3 L4 L5
: : 17.6/0. © < >
© S| & 6/0.69 © Centerfoot N
= N / B52BY
=~ ® o 2-910/0.394 215/0.591 Depth 9/0.354 n-04.50.177 et I
o @ 0 - /(mounting screw M8 x 16) (mounting screw M4 x 10) ==
15 1 /
A o a an\
~ @ 8 % V%
|9 =
N A ~
S8 T F 1 5
2 “ e
T 4
% (0-2/£0.0078 oo ~
S 176/0.69 e e 100/3.94 ' 106/4.17 o
s o Six angles Depth 5/0.197 | 4/0.157 98/3.85 ,@_ 4/0.157
« 106/4.17 2-045/00.177x850355 | _ ' ' S 2911
T/ow00] (mounting screw M4 x 20) | 1% E{r 0 ; 5
/ /] 00500019" ML . hal ¥ - —|®
16.5/0.64 . P sle | onNes | &g S oS
N , 8l
e — =t U Igs |
i SR el
' 100/3.94 0000000 | ®
| < Pis) X
c N 2-04.5/0.177 s
© | (mounting screw M4 x 10) S
el _ 100/3.94 65/2.56 >
S | 3| -
- hg N to}
5l 5l [onss ] 4[®
(g) L [SIRS]
Il
5| e —=p
o
ML | 70 | 120 | 170 | 220 | 270 | 320 | 370 | 420 | 470 | 520 | 570 | 620 | 720 | 770 | 820 | 920 | 1020 | 1140 | 1240 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 2040 *1 ML: Measuring length
L1 208 | 258 308 | 358 | 408 | 458 | 508 | 558 | 608 | es8 | 708 | 758 | 858 | 908 | 958 | 1058 | 1158 | 1278 | 1378 | 1478 | 1578 | 1678 | 1778 | 1878 | 1978 | 2178 *2 CL: Cable length
lo | 185 | 235 | 285 | 335 | 385 | 435 | 485 | 5365 | 585 | 635 | 685 | 735 | 835 | 885 | 935 | 1035 | 1135 | 1255 | 1356 | 1455 | 1555 | 1665 | 1755 | 1855 | 1955 | 2155 *3 MG: Machine guide
L3 4175 | 4425 | 4675 | 5175 | 5675 | 6275 | 6775 | 7275 | 520 | 550 | 585 | 620 | es0 | 720 *4 Center foot: 1 foot for ML =720 mm
L4 - - 520 | 550 | 585 | 620 | 650 | 720 2 fet for ML =1440 rmm
L5 4175 | 4425 | 4675 | 5175 | 5675 | 6275 | 6775 | 7275 | 515 | 555 | 585 | 615 | 655 | 715 -
n 0 0 0 0 0 0 0 0 0 0 0 0 1 1 1 1 1 1 1 1 2 2 2 2 2 2 Unit

: mm/inch



